A
WZ13-150ECO N WAGNER

EERVTRUVBER

[C40077A

1
AR - 0 - I T ERKAEET2HRHVET, 2024.03



) A
WZ13-150ECO N WAGNER

POS e B4 HE g i i3
1 2112663 |@EAR T 200,000/XMA3G25KSX
2 2112664 |7Tv 10,000|{GSRKAGX200
4 2112672  |/NEARLE 200(8TM8x20
5 2112671 |/ 3% 200( ¢ 8
6 2112350 |7ro—x 17 58,200|3CCR
7 2118067 |H7FT7—/rvh 4,400|SUS3/8F
8 2103343 |74— - H 2,700
9 2112081 |RUFyv 7 270(3/8
10 2112455 |B=v7/L 2,200(3/8 X 60
11 2112387 |AAAATILIR 3/8 3,500
12 2000202 |7 —iER—A 4,300
13 2240002 |F—ANUR 25 770|117 ~ 25
14 2112332 |HE)=7 —Hix 9,000
16 2112737 |BEETIVR 3,000[1/4 X 3/8
17 2112738 |ARU—h= /LR 6,500|1/2 {&JE
18 2112457 |E=v7 v 3,800[1/2 X 80 YSP-1315
21 2112086 |[RUFyv 270

NS NN B NG EF G N B G N B e I e e e e e I e e Bl I e sl I Il W I Wl I [l IUANG NANGY P

22 2115555 |[EJJEF « STiA 13,400| ¢ 63-30MPa

23 2112458 |BET /LA 5,100[1/8 X 1/4 AA
24 2112459 |FE=v 7 /LRL M 4,000[YSP1310

25 2112151 O Vv 150{14.00 X 1.78

26 2112739 |79 1,300[3/8 SXW

27 2112604 |mvZ7F vk 1,700[1/2BSBM V-16038
28 9904409 |NAINETT TS 500(R1/2

29 2112666 |T AT AT 47 3,000/ XRXRAXTAXTV
70 2112671 |/ 200( ¢ 8

71 2112672  |/NEARLK 200(8TM8x20

57 2109500 |7T7v I f STk 270|M8

58 Ro7TL—)L

59 2112461 |/NEARILVK P3 150|M8 X 16 =71
60 2112367 |BhiR= A - R 1,800

62 2112741 |7 Tv AR AR 150|M8 X 16

61 2109500 |7Tv I f ATk 270|M8

LC40077A

2
fIAk - dn - MRS T ERKER T 2ENHYET, 2024.03



A
WZ13-150ECO N WAGNER

BERT

[C50078A

3
fIAk - dn - MRS T ERKER T 2ENHYET, 2024.03



WZ13-150ECO N

A
WAGNER

POS h i S TEAM ik
2 2112673  |Ro T~k 1 100,000{XMV3.5G4G ¢ 18
3 2112674 |75 1 2,500|1/2SXW
4 2112675 |0 Vv 1 300{17.50x1.78
5 2112676 |75/ 1 1,500|3/8SXW
6 2112677 |0 Vv 1 200| ¢ 14x1.78
7 2112678 |7F7 1 800|XTA
9 2112687 |7 750 6 6,000[XMV
10 2112109 |0 V2 O6 150(17.86 X 2.62
11 2112124 |7V Q6 2,000{0
12 2112125 |0V O6 150{15.54 X 2.62
20 2112203 |VAR—Rr) 7 o3 350[0
21 2112204  |@ LT —b @3 4,90010
22 2112689 |3 —UF—F— 3 3,500[XMA3.5G
23 2112219 |[{KFE>—v @3 1,500]0
24 2112218 |0 VvV @3 150(23.52 X 1.78
25 2112691 |U7 > — YT —F— 3 1,800|XMA3.5G
26 2112688 |A AL —)L 3 2,500(15x24x5
40 2112692 |77 2/r—2A 1 53,000 XMV
41 2112690  |~v KRRV 8 820|XTA1114
42 2112693 |Uvi¥— 8 300(0
43 2112666 |7 AT AT 47 1 3,000[XRXRAXTAXTV
44 2112694 |75/ 1 1,600|3/8SXW
45 2112695 |0 Vv 1 300| ¢ 14x1.78
46 2112696 |0 V> 1 660| ¢ 106x3
47 2112697  |F¥v 7Rk 6 500|M6x16
50 2112698 |7F v T vh 3 1,000|XTV3.16
51 2112023 |Tviy— O3 2708 X 13 X 0.5
52 2112215 |70 Vv— 03 14,0000
53 2112142 |RUH =V O3 270{0
54 2112141 |0 Vv 2 O3 150(4.48 X 1.78
55 2112703 |7 Tv AR 3 9,000(0
56 2112704 |7 TvHARE Y 3 1,200(0
57 2112715 |zvmyR 3 13,500[0
65 2112716 |7 T2 0/ —AUT J3/3— 1 12,9000
66 2112717  |AFANI 2 1 550{XRA4G20
67 2112718 |F4AZ 1 270|XMV
68 2112719 |AANY AT TAASY 1 1,200|XRA4G20F151
69 2112720 |0 Vv 1 250| ¢ 20.24x2.62
70 2112721 |0 Vv o 1 250| ¢ 14x1.78
71 2112722 |75 1 1,800|3/8SXW
75 2112723 |7V 1 12,000|XMV
76 2112724 |AFw AV 1 320|XMV
77 2112725 |AFw AV 1 700[XTV3.16
78 2112726 |0 Vv 1 500| ¢ 51.8x0.5
79 2112727 |0 Vv 1 700| ¢ 47.30x2.62
80 2112728 | A ANV AT TA 1 6,900 K A7/3— XMA
81 2112729  [>4 1 400/0.35mm
82 2112730 |mrRH 8— 1 4,000|RRA
83 2112731 |Fvy 7Rk 4 350|M6X14RK3015
85 2112732 |UT2 073 % 7k 1 60,000{XMA
87 2112733 [ _7VU 1 7,900{XTV316
88 2112734  |=Fw 7V 1 3,000[XTA
89 2112735 |A A —v 1 3,000{AD40-527
94 2112736 |Fwos 1 5,500{XMV4G30D+F24

2112901  [7L7 AV R O 7,400|P0s.9,10,11 (% 6 7 A)
2112921 |3 —F% vk o 11,600|P0s.20,21,23,24 (4% 6 7 A\)
2112941 | 7Fo P vh O 26,900|Pos.51,52,53,54 (% 3 /7 A\)

(RS

T - P = AN AL (e IR /Y o/ S B

4

LC50078A
2024.03




A
WZ13-150ECO N WAGNER

7>a—4—/\)L7 (PN 2112350)

373y A IXEN

NG

~

by

(S
-
N/
"
NS/
Nt
N
N
=2
N

IC40062A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2024.03



WZ13-150ECO N

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

6

POS R B4 B FEAM i3
1 2112271 |79 1 400
2 9900318 |/<HUAFR LR 1 360[M8 X 20
3 2112272 |NAF vk 1 150|M8
4 2112273 |fH#k )~ 1 910
5 2112274 |v°v 1 650
6 2112275 |FAFET vk 1 16,400
7 2112276 | ATV T HAR 1 14,700
8 2112277 |[AFV 7 7L —Fb 1 5,800
9 2112278 |[E NIRRTV 7 1 2,000
10 | 2112279 [ATFARS —h 1 1,300
11 2112295 |&°v 1 2,200
12 2112296 |7 v/ 3—E AR 1 9,400
13 2112282 (O U7 1 150
14 | 2112283 |\ r 77V 1 270
15 2112284 |0 U7 1 270
16 | 2112285 |[F=v /317 1 3,500
17 2112286 |F =7\ )VT ATV 1 780
18 2112154 [0 V> 1 270[17.5 X 2.00
19 | 2112297 |7URL T T7 Assy 1 4,300
20 | 2112298 OV 1 150| ¢ 11.91 X 2.62
21 2112289 |2V T ART ¢ 1 17,700
22 2112290 |7V 1 520
23 2112141 [0V 1 150|4.48 X 1.78
24 | 2112291 [2—/b 8v% 1 2,300
25 2112292 |[m—U—E AR 1 12,500
26 | 2112197 OV 1 150|17.17 X 1.78
27 2112293 |77 —h 1 8,300
28 2112299 [0 U7 1 910 ¢ 11 X 1
35 2112294 M7 40747 1 5,200
L.C40062A

2024.03




WZ13-150ECO N

A
WAGNER

%« RKIAR—R

2
1D40002B
POS | & \FE4 g TEAT ik
1 | 2116150 (kA —=A 1 10,000(G1/2 X 3m +» O U7 fF
2 | 2116021 OV (1) 270P12.5 - G1/2
3 | 2116151 |§skAFR—=A 1 5,900|G3/8 X 3m + O UL f++
4 | 2116022 OV (1) 270[1A + ¢ 6 X 3
5 | 2116320 [ARL—F— - [ 1 4,200(G3/4F 40 Ay =
.D40006B-3
7
A - I3 - I T EAKE T I 2HNHVET, 2024.03



